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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.
2. All questions are compulsory.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should

be used throughout the paper.
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. (a) Whatis incidence of tax ? On what basis tax Is levied on the individuals

income ?

(b) What is Input tax credit. Which are the eligible purchases for input tax
credit ? Give examples.

OR
(a) Prepare a note highlighting justification of VAT.
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(b) Give a comparative analysis when rate of VAT is not uniform. (7.5x2=15)
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2. (a) R, adealerin Delhi purchased raw material worth Rs. 8,00,000 (excluding
VAT) and manufactured finished goods worth Rs. 30,00,000 from such raw
material in the month of February 2015. It received an order for the said
finished goods from Gujarat in March 2015. It transferred these finished
goods to its branch in Gujarat in the same month. Calculate :

(i) Amount of input tax credit available for the month of March 2015.
(i) Net VAT payable for the month of March, 2015.

(iii) Balance input tax credit carried forward to next month (if any). Input
VAT rate is 12.50% and output rate 1s 4%.

(b) Explain the concept of Value Added Tax. What conditions led to the growth
of VAT ?

OR

(a) Mr. N, aregistered dealer, sells his products to dealers in his state and other
states. Profit margin is 15% of cost of production and VAT rate is 12.5%
on sales. Following further information is given by the dealer :

(1) Intra state purchases of raw material Rs. 25,000 (excluding VAT @ 4%).
(i) Purchases of raw material from an unregistered dealer Rs. 8,000

(iii) Purchases of raw materials from other states (excluding CST @ 2%)
Rs. 5,000.
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(iv) Transportation charges, wages and other manufacturing expenses
(excluding tax) Rs. 14,500.

All the above purchases were sold by the dealer. You are required to calculate
net VAT payable.

(b) What are the different methods of computation of VAT ? (7.5%2=15)
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Y is a technical consultant in many companies. He has been providing technical
services to Z Ltd. since 2008. Consideration is settled for each assignment.
On May 10, 2014, Z Itd has paid 10 lakhs to Y on his promise of not
providing similar services to any other business entity in India or abroad for
a period of 10 years ending on May 31, 2024. Z believed that Rs. 10 Lakhs
is not chargeable to service tax. Do you agree ? Give reasons in support of
your answer.

Who is small service provider ? What are the exemptions available to him ?
OR

R is an architect. He has prepared building plan of a new hotel which will
be constructed in Mumbai. For this purpose he charged Rs. 40 Lakhs from
that hotel. The hotel has provided him a travellers cheque of Rs. 5 Lakh
which can be used anywhere in India. Z believed that only monetary
consideration of Rs. 40 Lakh should be chargeable to service tax. The value
of travellers cheque is not taxable under service tax. Do you agree ? Give
reasons in support of your answer.

Discuss the provisions of Rule 7 of Point of Taxation Rules in case of
specified services. (7.5x2=15)
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Discuss whether the following services are chargeable to service tax :

(1) Service by way of access to Rajiv Gandhi Sea link on payment of toll
charges.

(i) Manufacture of excisable goods. Excise duty has been reduced to nil by the
government by issue of a notification.

(iif) Charges are collected by a developer for distribution of electricity within a
residential complex.

(iv) Food provided in an air conditioner restaurant.

(v) Legal service provided by a law firm to another law firm. (5%3=15)
OR

(a) Give the meaning of “taxable territory” and “non taxable territory”.

(b) How the location of service receiver is determined ? What is bundled service ?
Explain with the help of an example. (7.5%2=15)
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Write a note on registration under service tax. What is centralized registration
under Service Tax ?

Discuss the provisions of Rule 4, pertaining to place of provision of
performance based service.

OR

What are the basis on which place of provision of goods transportation
service is determined ?

When service provider and service recipient are located in India, service tax
is not applicable if service is utilised in a non-taxable territory. Do you
agree 7 Give examples. (7.5%2=15)
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